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GENERAL MATHEMATICS SSC-lI
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C I D. Each part carries one mark.

0] & -3ab(a—-b)—b =7

A a+b B. (a+b) C. & -b D (a—=b)
(i) A linear polynomial is of degree:
A 0 B. 1 C. "2 D. 3
(i) Factorization of x* —° is:
A (x-p)E -y B ety
C.  -»GE'+y) | D.  (x—»Ex-»’
(v} HCF of 12pg, 8p’g is:
A 4pg B. 4pq* -C. 4pg* D. 4p*q
) Product of two expression _ |
H.CF
A LCM B. HCF - C. 0 - b LCMxHCF
(vl  Solution of |x|=3 is:
A3 B. +3 C. -3 D. 0
(vii)  Solution of x? =1 is: ‘ ' '
A {1 B. = c. {0} D. Does not exist
(vii)  Solution of x* —5x+6=0 is: ‘
A {3} ’ ~ B. {2} C. {2,3y D. {~2,-3}
{ixX) The number of rows and columns in a matrix determine its:
A Order B. Rows C. Adjoint D. Determinant
(x) In matrices (AB) =?
A 4 B. B . ¢ B4 D. AB
{(xi) . Apolygon with four equal sides is called: .
.'A. Histogram B. Parallelogram C. Square D. Rectangle
(xii) A straight angle co_ntains; .
A 90 B. 180° C. 270° D 360°
(xiif) 'An angle containing more than 180° and less than 360° is called: - -
A Reflex angle B. Obtuse angle C. Straight angle D. Acute angle
(xiv)  Aline which intersects a circle at two points is called: '
A Secant 8 Tangent C. Radius - D. None of these
(xv) Points which do not lie on the same straight line are called:
A Non-collinear  B. _Collinear C. Equal D. Zero
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GENERAL MATHEMATICS SSC-II /7/ Lj

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any NINE parts from Section ‘B’ and any FOUR questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Graph paper will be provided on request. '

Q.2

Note:

Q.3
Q4.

Qs.

- Q6.

Q7.

Q8.

SECTION — B (Marks 36)

Attempt any NINE parts. All parts carry equal marks. {9x4=36)
2
- _— x*—4dx+4  x
{n Simplify: =
plffy x* -4 x-2
{ii) If x=+/3=~/2 then find the value of xu'—l- and x+-1—
x x
, 3 1
(iii) Factorize: 8x° ——
27

(v) i P(x)=x"—kx? +3x+5 is divided by x—1, find k, if remainder is 8

(v) Find H.C.F by Division Method x* +x*+1 , x*+x +x+1

{vi) Find the square root: (xz +-~1§~} —10(x+lJ+27 . (x=0)
X X

11 1
vii Solve: 2y+—=—y+2
(vii) yroT3Y
(vii)  Solve the inequality: x—7<5-2x
(ix) Solve by completing square method:  3(x — 29 =x(x—2)

1 Slip| |35
) If = then find the value of g4 and &
3 all? 10

{xi) If msA4=60" and m.ZB =30"and the included side, mAB = 6¢m , then construct A4BC .

(xii} A 25m ladder leans against a wall with its foot 15m from the wall. How far is the top of the ladder from
the ground?

(xiil)  Find the radius of the cylinder with volume 12320cm’ and height 20cm .

(xiv)  What kind of the triangle has vertices 4(6,-2) . B(l,-2) , C(-2,2) ?

SECTION — C {(Marks 24)

Attempt any FOUR questions. All questions carry equal marks. (4 x6=24)

Find the value of x* +)° | if xy=10 and x+y=7
a+bd 1 ab
L rab+b® a-b o -b
Find two consecutive positive odd numbers such that the sum of their squares is equal to 130
3x—4y=7
Sx—Ty=12

Simplify:

Solve the equations using the matrix inversion method

Construct a AABC in which mBC =4.6cm , m£B=110° and mAB = Scm . Draw the perpendicular

bisectors of its sides.
Show that the points A(—1,2). B(7,5) and C(2,—6)are vertices of a right triangle.
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